DAD

Ref. Dad ¢ At WL Hs B T
EPLat w1 | _osu| GRS | IE &'  -On/+Off
EPLong nS5 ° 02| EW 6S ° She -5
<% HOE g1 Dip =
GDate Y 2020 [M AR |D 27 Ha B2 L2
DWT Hr m s Refr L] -
DWE -F/+S|Hr m 3 s :
Ut HE 25 m tb s ©4 PIA L Ko .S+
Table 4 M APZ |D 27 Hr SD . 1§ 5q ¢LL-UL
Int(UTHr) 25 Ho B tL &
(a)Y : 20 @-
o APz 78 €9
Tollo L¢ Almanac diff diff
E@ED)md ot ° W12} pec e 88 e
AC\Q) S e 2 corr : & 5
s ©es ° 3’ DEC e 1 3 @S
(C!ZBIC( [Sug e - 3C>I
@\ _sbou’ «T ' .
[ 2 : +
gha e o
*sha < o
gha* > .
0/360 = : -
GHA eq ° 2q
Sight Reduction ( by Haversine/Doniol Intercept Method )
tam) 359° 5 9 ’fen
EPLong vy ° 032 15 WHE) t(p.m.)
19T 5 1 8 GHA /
GHA e "as - EPLong ' W-/E+
0/360 - - 0/360 -
t !5 {255 t ’ '
ZD EPLat Rt B Zn
+ - DEC g " o
& K5 2 8 delx Use t for LHA on nomograph to get Z
(0] [IFt>90 THEN Use (180 -t) ]
N EPLat ey ° oS!
~ o e © & = z
e Sy Znis [(Nfs 1-S(EJW __|= o877
hv(x) =n 2.Sk
hvy)=p _oSuo + 90° 89 ° 60"
bkegs n+p=q 1Lq K ZD 51 ° o4 |-
BE36 1-q &+V306 He 32 ° 56’
2420 havit) o©.9 8 * Ho L ° 5B )}~
(m R Intercept o i e
n o SL+ =
hv(ZD) .12%% ' ' :
ZD = 51 o Intercept O T/A oS °T




